The key financial ratios tool

How it works

Financial ratios are commonly used by organisations to assess performance and identify where
the business is underperforming.

Monitoring figures closely allows the organisation to maximise efficiency and minimise waste,
which will help during transition to the NDIS.

Financial risk for organisations is increased under the NDIS because most organisations will
move from block funding paid in advance to individual payments made in arrears. In this context
itis critical to monitor and manage activity levels and cash flow. Further, where block payments
end, your organisation will no longer earn interest from investing payments made in advance.

The Toolkit uses high level ratios that can be calculated from the annual reports of most
organisations.

Key financial ratios

The key financial ratios in this tool are high-level ratios only, drawing on the organisation’s
Balance Sheet and Profit and Loss Statement. The ratios are calculated from your financial
records at the date they were generated. Significant changes in your organisation’s
circumstances since that date will not be reflected in the key ratios and therefore need to be
considered when analysing and responding to the results.

The results also need to be viewed in the context of your organisation’s overall circumstances,
including its strategy and financial history. Trends in the ratios across time can be important;
however, the impact of changes under the NDIS might result in your pre-NDIS history being less
relevant. As such, itis only an indicator of future performance. Further analysis can give a more
complete understanding of your organisation’s financial position.

The comments about preferred results are for guidance only.

How to complete the analysis of key financial ratios

You will need your latest audited Balance Sheet and Profit and Loss Statement. This is important
because an audited Balance Sheet will account for unexpended grants. If you use a Balance
Sheet that is yet to be adjusted for unexpended grants, the results are likely to overstate your
financial position. In addition, the Profit and Loss Statement needs to be for the most recently
completed financial year. If you use a Profit and Loss Statement for a part financial year, the
Months of Spending result will not be correct.

Here’s how to calculate your organisation’s ratios:

1. Enter the relevant items from the Balance Sheet and Profit and Loss Statement in this form
to calculate the ratios. Completing the ratios online will allow automatic calculation of



figures.

2. Share the results with your board and your management team. They include vital
information about the financial sustainability of your organisation.

3. Ifyou need help in understanding the ratios, discuss the results with a staff or board
member with financial expertise, or with your organisation’s accountant or auditor.



Financials: Bankstown Multivultural Network

Dates of financial reports:

From the financial reports of the most recent financial year
From the Income and Expenditure Statement

Disability revenue

Total revenue

Capital grants (if known)

Total expenses
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Depreciation

From the Balance Sheet

Current Assets

Total assets

Current liabilities
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Total liabilities

From the financial reports for the previous financial year

From the Income and Expenditure Statement

Total revenue $

Capital grants (if known) $

Total expenses $




Revenue concentration

Ratio: Disability Revenue Concentration

Ratio Your Organisation

DISABILITY REVENUE SOURCES
TOTAL REVENUE

What this ratio explains

This ratio explains the degree of potential impact that the NDIS could have on your
organisation. The higher the percentage, the greater the likely impact. A diversity of major
revenue sources is sometimes considered to be more desirable. However, this depends on
your organisational strategy, and sometimes there are advantages in concentrating on one
revenue source and one type of service. If this is the case, any risks to the revenue source
need to be identified and managed where possible.




Liquidity ratios

Ratio: Months of Spending

Ratio
RRENT ASSETS — CURRENT LIABILITIE
(CU SSETS —CU S) Xx12 = MTHS
(TOTAL EXPENSES — DEPRECIATION )
Your Organisation
( — )
x12 = Months

( — )

What this ratio explains

This ratio explains the number of months of cash currently available to cover expenditure.
This indicates whether your organisation can make the transition from payments in advance
to payments in arrears. As a rule of thumb, 3 months or more is preferred.

Ratio: Current Ratio (also known as Liquidity Ratio)

Ratio

CURRENT ASSETS
CURRENT LIABILITIES (includes unexpended funds )

Your Organisation




What this ratio explains

This ratio explains the ability to meet financial commitments in the next 12 months. A ratio of
less than 1.5 is concerning. A ratio of less than 1 indicates that your organisation should seek
accounting and legal advice as it is possibly trading while insolvent. However, very high
current ratios might indicate opportunities for the use of cash funds. This is because you might
have more money in operating accounts than you need. It may also indicate a conservative
approach to investment and financial risk. Remember though, your board should consider
these issues and develop policies based on the organisation’s context and needs.




Debt ratio

Ratio: Debt to Total Assets

Ratio Your Organisation

TOTAL LIABILITIES
TOTAL ASSETS

What this ratio explains

This ratio explains the extent to which assets are funded by debt. The preferred result is low,
towards 0.00. Higher ratios are often an indication of an organisation’s inability to service its
total debts.




Sustainability ratios

Ratio: Profit Margin (also known as Surplus Margin)

Ratio

(TOTAL REVENUE — CAPITAL GRANTS — TOTAL EXPENSES )
(TOTAL REVENUE — CAPITAL GRANTS)

Your Organisation — Most recent financial year

Your Organisation — Previous financial year

What this ratio explains

This ratio explains the rate at which your organisation currently builds reserves from revenue.
These reserves can be used for working capital, future service delivery, investment in the
organisation’s infrastructure, or investment in revenue-generating activities. The preferred
result for both periods is a positive figure. An organisation which regularly has negative
returns will not be viable in the longer term. Boards and management teams might establish a
target level of surplus (profit) margin.

Return on Assets




Ratio

TOTAL REVENUE — TOTAL EXPENSES

Your Organisation

( — )

TOTAL ASSETS

What this ratio explains

This ratio is an indicator of the organisation’s effectiveness in managing its assets to generate
a surplus (or profit). It is an indicator of efficiency.

The preferred result is higher than the annual rate of inflation.




Concerned about your organisation’s financial results?

The following suggestions need to be considered in light of the organisation’s circumstances and
strategy. To some extent, the suggestions are related. For example, actions to reduce cost will
increase surplus/profit and ultimately improve the organisation’s current assets and total assets.
Increasing profitability will improve liquidity, debt, and sustainability-related ratios. There are
three broad strategies for improving your organisation’s results:

1. improving profitability and sustainability;
2. making better use of any assets; and

3. reducing liabilities.

How to improve profitability and sustainability

Questions to consider:

e Can you do something to generate more income without disproportionately raising
expenses?

e Can you generate more income by serving new clients?
e Can you provide more valued services to existing clients?

e Can you be confident that the additional income generated will exceed the additional
expense?

e Even if you are confident that income will exceed expense, do you have access to the
working capital to cover the additional expense, given that under the NDIS you will be paid
in arrears?

e Can you increase service delivery for those service types which generate a greater
surplus?

e Are you ensuring that you receive prompt and accurate payment for services delivered, for
example, by having payment by credit card at the time of delivering services to clients who
are self-managing their NDIS package?

o Are you effectively managing your debtors?

e Are you effectively managing your suppliers, for example, by negotiating favourable terms?

You might look for ways of reducing or controlling expenditure.
Questions to consider:

e Ways to reduce costs without unwanted impacts on quality. Can you reduce administrative



overheads, for example, through expenditure reviews, outsourcing back office functions, or
merging with another organisation?

e Providing services to clients that are not funded. If you are already doing so, what strategies
could be used to fund these services, wind them back or stop them entirely?

e Are you providing more services than you are contracted to provide? For clients who have
transitioned to NDIS, do the services you provide to the client exceed what the client is
purchasing?

o Are there efficiencies that can be realised in staffing costs, for example, by improved
rostering?

Making better use of assets

The other way of improving liquidity-related ratios is to make better use of assets. For example,
an organisation might have low net current assets, but high net fixed assets. For example, your
organisation might own property or vehicles, or reconsider the proportion of current to fixed
assets, or generating income from the fixed assets.

Questions to consider:

e Could your organisation sell some of its fixed assets and increase the proportion of current
assets to gain greater access to working capital ?

e Could your organisation generate income from fixed assets, for example, by renting out
facilities?
Reducing liabilities

e Fororganisations yet to transition to the NDIS, can you reduce annual leave liabilities now
(while you are still block-funded) by encouraging staff to take any backlog of annual leave?



